
Math 322 April 25, 2017 Section 4.7 

1. Let  1 2 3, , a a aA  and  1 2 3, , d d dD  be bases of a vector space V. Suppose that 

1 1 24 a d d , 2 1 2 3   a d d d   and 3 2 32 a d d .  

a. Find the change of coordinate matrix from A  to D .  

 

 

 

 

 

 

b. Find  x
D

 for 1 2 33 4  x a a a . 

 

 

 

 

 

 

 

 

2. In 2 , find the change of coordinate matrix from the basis  2 21 3 , 2 5 , 1 2x x x x    B  

to the standard basis  21, ,x x . Then write 2x  as a linear combination of the polynomials in 

B . 


